Quiz 2: Chapter 3 Dr. Hahn Greenville Tech 2/16/21  Print Name fé@(/l
Show work for all questions for partial and full credit. (25 pts total) /

1. Balance the Chemical Reaction Below. Assume that the reaction goes to completion. (4 pts)

CaS + K3 PO ‘) Kz S + Ca3 (P04
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2. What is the formula weight for the compound K3 PO4 (3 pts)

y(0) + 40,97+ 4( [6,00) =221
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3. a) Ifl have 207.8 grams of H,0, how many moles of water do | have ? (molecular weight of H,O is 18.02
grams / mol) (4 pts)
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b) Out of 207.8 grams of H,0, how many atoms of H do | have ? (avogadro’s number is 6.02 x 10%) (4 pts) v /'0215\
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4. For the reaction below: (6 pts)
Fe; 0s(s) + 2Al(s)> 2Fe(l) + AL Os(s)

If I have 75.2 grams of the Fe;03, what is the theoretical yield of the@ Show work. (FW Fe,03= 159.7 g/mol )
(FW Fe =55.9 g/mol ).
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Quiz/z:/ Chapter 4 Dr. Hahn Greenville Tech 2/23/21  Print Name k‘&/},
Show work for all questions for partial and full credit. (25 pts total) /

1. Write out the product of the metathesis reaction below.  (if get precipitate, the reaction goes to product.
If do not get precipitate, the reaction does not go to product.) (12 pts)

) )
(L“CL:%{T l/\/O\M ey + fhg CO;C%M)

a) Na;CO; +

' A
b) Which one of the products comes out of solution as a precipitate ? (27&(/(/' / (6 pts)

2. Which of the following are strong acids ?  Circle all strong acids. (5 pts, 1 pt each)
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3. What is the oxidation € following ? (8 pts, 2 pts each)

v
a. F = fiﬁ b. H F (ox state of F) (W 7 ‘? j)

c. Ag 2 d. Nin NOZ . (show work) U \t‘ LQ~ ) oL éQ/,/O
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4, In the reaction cl o+ Mg = H; + MgCh

+ a%
a. The element undergomgomdatlon is ht%c (EC, 1 pt) M Q&Qw) == [’V\%

b. The element undergoing reduction is (EC, 1pt) LF(_ «——)* G Wﬁ)»{— [:ﬂ

(cH If the H is lower in the activity series than the Mg, does the reaction go forward as wrltten es o) (circle
one) (EC, 1 pt) 4 v — i ‘ ) .
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5. a. Molarity (M) of a solution made by dissolving 78.2 grams of Li Cl to make up 240. 7 solution is 6 /‘/\

(M = moles solute / L solution) (formula welght of Li Clis 42.44 g/mol) (1000 mL =1 L) (EC, 1 pt)
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b. If you have 25.2 Lofa Na C/solutlon of molarity 1.25 M, how many moles of Na Cl do you have ? (EC, 1 pt)
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